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Jor the questions
1. % Rad IR Shea/sse fimms T fr -
1x8=8
Choose the correct option/Answer the
following :
fa) TS TATS 2T BT
Average propensity to consume is
. AC
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(b)

(c)
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(2)

AN R TIRIT A
The example of near money is
i) ©F

cheque

(i) QT TEH
bank draft

(i) (i) S (i) TN
Both (i) and (ii)

(iv) SR oIS TA
None of the above

MR QIR 99 YRI TS S IR

Capacity of credit creation of commercial
bank depends on

(i) T TEFR TS SIS
cash reserve ratio

(i) I YT S*[{©
rate of interest

(iii) TErEfeT e[S

rate of inflation

(iv) @3 oIS T
None of the above
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(3)

(@) Rl A ags wow o 2

What is net national income?

(e) ST TOW WA 51T T

In India, national income is estimated by

() e s

Finance Commission

(i) RN AR AfEH
Central Statistical Organization

(iii) s Red QT

Reserve Bank of India
(iv) T IR

Central Government

(N Tfeos IR e w o

Write the meaning of Disposable
Personal Income,

(@) Tl e (o1 Ja SR o |

Write two basic assumptions of classical
theory of employment.

(h) IEES e b1 T o

Give one example of cost-push inflation.
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(4)

2. FafReTRT /1 R @ witR oY Gt forar
(a1 seo *rm o) 4x4=16

Write short notes on any four from the
following (within 150 words each) :

(a) o oW TR

Gross national product

(b) fEw wkm

Effective demand

(c) AT 9l
Balance of payments

(d) Rivcas IR

Investment function

fe) A [P
Rural bank

N Qs
World bank

8P/644 ( Continued )



(5)

3. wow uW ¥ 7 S wtalss wcEmTe W 999
2 ISR S A1 FAR R @A b1 RS SeEAm
EZ N 2+5+5=12
What is national income? How far is it
important in modern economic analysis?
Discuss any one method of computing
national income.

{49/ Or

FON W 9] FIF S WE T HS PO WA
wmiihaﬁ-ﬁ—@mﬁwﬁ%am%m
PAC WA SREATTIN ? 8+4=12

Explain the income and expenditure
methods of computing national income.
Which of the two methods is more suitable

for developing countries?

4.1@?ﬁ<@lﬁmlwﬁﬁquﬂwm
HRNFACH IR 0 2+9=11
Define money. Explain the cash transaction
approach to the quantity theory of money.

53]/ Or

T REA T 4FS T AE Roew @

e &3m0 7+4=11
Explain the functions of money. What do you
mean by actual money and money of
account?
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(6)

5. IR QT R2 AR QT TN SCEADAN
1 3+8=11

What is commercial bank? Discuss the
functions of commercial bank.

{{/Or
@ @RI it T ¢ @S IHEAR
A 97 | 3+8=11

Define central bank. Discuss the functions of
central bank.

6. (gfe W Toe e SEh I T 1 TR
SRR a0 7+4=11

Explain the classical theory of employment
and income. Mention its drawbacks.

{1/ Or

TR s owh Rers 530 1 s e @3
TGN APl R 7 8+3=11

Analyze the Keynesian theory of employment.
How far is the theory relevant in present-day
context? '
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(7))

7. T P TR S SR ST T 1 @
SGOR SPRYPRR CEy I | 7+4=11

Discuss the Adam Smith’s theory of
international trade. Mention its drawbacks.

{1/ Or

& Al 7 1o AER R IF TRETR
S 9 | 3+4+4=11

What is free trade? Discuss the merits and
demerits of free trade.
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